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1.Setting up the problem
There is a simple and transparent correspondence between the adjectival concords and a piece of the corresponding class prefixes of nouns which can be captured easily in a formal analysis. But the simple formal analysis doesn’t appear to extend to the relationship between nominal prefixes and subject concords on verbs.
1.1. Nominal prefixes in Nguni

Xhosa: 

(1) Class1 um-          Class2 aba- 

            1a  u-                   2a  oo- 

              3  um-                  4 imi- 

              5 i(li)-                  6 ama- 

              7 isi-                    8 izi- 

              9 iN-                  10 iziN-/iiN- 

            11 u(lu)- 

            14 ubu- 

            15 uku- 

1.2. The correspondence between nominal prefixes and adjectival concords  

Some examples with agreeing adjectives:

(2)      a-ba-ntwana ba-de
            ‘2     -child  ac2-tall’

             ‘The children are tall.’

(3)      u-m-ntwana m-de
            ‘1     -child ac1-tall’

            ‘The child is tall.§ 

(4)       i-mi-thi mi-de
            ‘4     -tree ac4-tall’

            ‘The trees are tall.’
In general:

(5)        the class prefix:                                           the AC:

class 1          u-m-                                                        m-
         2          a-ba-                                                       ba-

         3         u-m-                                                         m-
         4         i-mi-                                                         mi-
         5         i-li-                                                           li-

         6         a-ma-                                                       ma-
         7         i-si-                                                          si-

         8         i-zi-                                                          zi-

         9         i-N-                                                           i-
        10        i-zi-N-                                                       zi-N-
        11        u-lu-                                                          lu-
        14        u-bu                                                          bu-
        15        u-ku                                                          ku-
So, a nominal prefix corresponds to two heads Ai and Bi associated with two morphemes as in (6),
(6)a    [x A2 [y B2 ]]
    b    A2  (( a
          B2  (( ba
and the adjectival concord (AC) is a copy of Bi:

(7)a    [x A2 [y B2 [N ntwana ]]] [y B2 [N de ]]   

                        |_______________|  

    b    [x a [y ba [N ntwana ]]] [y ba [N de ]]
This segmentation of the nominal prefix into two parts is uncontroversial:

(8)     Molweni, (*a)bafundi !  

         ‘hi-pl 2-student’

         ‘ Hi, students!’

(9)    Andiboni (*a)bafundi 
         ‘Neg-1sg-see 2-student’  

        ‘I don’t see any students’ 

(10)  Umfazi unceda umntwana ogulayo/*ugulayo
        ‘1-woman sc1-help 1-child that sc1-sick-RM/*sc1-sick-RM’

       ‘The woman is helping the sick child.’

(11)  Umfazi akancedi mntwana ogulayo/ ugulayo
        ‘1-woman Neg-sc1-help 1-child that sc1-sick-RM/ sc1-sick-RM’

      ‘The woman isn’t helping any sick child.’

1.3.  The correspondence between nominal prefixes and subject concords
Examples like (12) suggest that the subject concords on verbs(SCs) relate to the nominal prefix on the subject exactly the same way as the ACs:
 (12)  A-ba-ntwana ba-ya-dlala
        ‘2      -child  sc2-Foc-play’

        ‘The children are playing’
But there are also examples like (13):

(13) U-m-ntwana u-ya-dlala
        ‘1    -child    sc1-Foc-play’

        ‘The child is playing’

In general:

(14)              the class prefix                                           the sc

class 1          u-mu-                                                           u-
         2         a-ba-                                                            ba-

         3         u-mu-                                                           u-
         4         i-mi-                                                             i-
         5         i-li-                                                               li-

         6         a-ma-                                                           a-
         7         i-si-                                                              si-

         8         i-zi-                                                              zi-

         9         i-N-                                                              i-
        10        i-zi-N-                                                          zi-
        11        u-lu-                                                            lu-
        14        u-bu-                                                           bu-
        15        u-ku-                                                           ku-
So, if the structure of the nominal prefix is as in (6)a,

(6)a    [x A2 [y B2 ]]
it would appear that the SCs sometimes copy B, sometimes A.

1.4. The problem
Building an account which has all the SCs copy the same head within the structure of the nominal prefix, and yet allows for the variation seen in (14).

2.  Nanosyntax   

Abels & Muriungi (2008), Caha (2007, 2009), Jablonska (2007), Medová (2009), Ramchand (2008), Starke (2009), Taraldsen (2010) and the articles in Nordlyd 36.1.
2.1.  The correspondence between morphemes and syntactic structures  

The basic claim:

(15)  A single morpheme can lexicalize a non-trivial span of syntactic heads, not just a single 

        terminal.

Where a “span” is as in (16):

(16) A ‘span’ is  a sequence of heads in a syntactic tree such that for each link X,Y, the 

       complement of X is YP.

Lexical entries:

(17)  A  ((  < X, Y, Z >

This allows for the lexicalization pattern in (18), provided X, Y and Z form a span in the input tree:

(18)  [ X  [ .. Y [ … Z …

            |_____|_____| 

                       | 

                      A 

By the Superset Principle,

(19)  A morpheme M associated with the span S can lexicalize any span of which S is a 

         superspan.

we may also have:

(20)a  [ Y [ …  Z …

              [_____|  

                    |  

                   A

       b  [ Z … 

              |   

             A
2.2.  Blocking

Assuming bottom-up lexicalization:

(21)a  At every phrasal node P associate a maximal span S in P with the smallest morpheme 

          M matched by S under the Superset Principle, possibly overwriting earlier associations,

      b   and if no such M exists, associate the initial member of S (the head of P) with the

           smallest M matched b it

where M is smaller than M’ iff M  (( S, M’  (( S’ and S < S’.

Assuming entries

(22)a  A  ((  < X, Y, Z >

      b   B  (( < Y, Z >

“Biggest Wins”:

(23)a  [XP X [YP …  Y [ZP … Z …

                                              [

                                             B

       b  [XP X [YP …  Y [ZP … Z …

                                  |_______| 

                                        |

                                       B

       c   [XP X [YP …  Y [ZP … Z …

                  |________|_______|  

                                   |  

                                   A    

“Best Fit”: 

(24) [YP …  Y [ZP … Z …     (no X on top of Y)

                     |_______|

                            | 

                          B/*A

*ABA:

(25)a  [XP X [YP … Y [ZP … Z …  ( A

      b   [YP Y [ZP … Z …  ( B
      c   [ZP Z …  ( A

(22)a  A  ((  < X, Y, Z >

      b  B  (( < Y, Z >

(26)a  [YP Y [ZP … Z …

                 |_______|   

                        |  

                      B/*A        (by “Best Fit”)

      b  [ZP Z …

                |  

              B/*A               (by “Best Fit”)

3.  The syntactic structure of nominal prefixes in Nguni

The occurrence of pieces of the nominal prefixes as concords and inside demonstratives leads to the recognition of a fairly big structure for the prefixes, but the richness of this structure is masked by spanning.

3.1.  Three structural layers

First, the problem with the SCs will be solved by adding a third head to the structure in (6)a and applying nanosyntactic technology.

3.1.1.  The SCs
Previously (section 1.2.):

(6)a    [x A2 [y B2 ]]
The problem: 

It  appears that the SCs sometimes copy B, sometimes A.

The solution:

(27)  [x Ai [y Bi [ Ci ]]]                                   (three structural layers)

(28) [x Ai [y Bi [ Ci [NP N ]]]]  [y Bi [ V …    (subject/verb agreement)

                    |_________________|

(29)a  a  ((  < A2 >                                    (lexical entries for class 2)

      b  ba  (( < B2, C2 >

(30)  [x A2 [y B2 [ C2 [NP ntwana ]]]] [y B2 [VP yadlala ]]

             |        |____|                                |   

             |            |                                     |   

            a          ba                                  ba  

(31)a  u   ((  < A1, B1 >                              (lexical entries for class 1)

      b  mu ((  < C1 >

(32)  [x A1 [y B1 [ C1 [NP ntwana ]]]] [y B1 [VP yadlala ]]

             |____|        |                                 |  

                 |             |                                 |   

                 u           mu                             u  
(33)  [AUG Ai [SC Bi [AC Ci ]]]

3.1.2.  The demonstratives
(34)  Class 1  lo                                Class 2  laba           

                  3  lo                                          4  le
                  5  leli                                        6  la
                  7  lesi                                       8  lezi
                  9  le                                         10 lezi 

                11 lolu
               14 lobu
               15 loku
Template:

(35)  [ l [ a [AUG Ai [SC Bi ]]]]

Giving:

(36)a  [ l [ a [AUG A1 [SC B1 ]]]]         ( /lo/       (class 1)

                             |_____|  

                                   |   

                                   u
      b  [ l [ a [AUG A2 [SC B2 ]]]]          ( /laba/   (class 2)

                             |          |    

                             a       ba
3.1.3.  The initial vowel in Swati:
(37)  Class 1   umu-                      Class 2   ba-
                  3   umu-                                4   imi-

                   5   li-                                    6   ema-

                   7   si-                                    8   ti-

                   9   iN-                                   10  tiN- 
                 11  lu-

                 14  bu-

                 15  ku-

The structure of the nominal prefixes doesn’t include the AUG-layer:

(38)  [SC Bi [AC Ci ]]

Giving:

(39)a  [SC B1 [AC C1 ]]                 (class 1)

                 |          |   

                 u        mu 

      b  [SC B5 [AC C5 ]]                 (class 5)

                 |_____|   

                      |   

                     li  

3.2.  Four structural layers
(40)a  ndi-ya-ba-bona
         ‘1sg-Foc-oc2-see’

         ‘I  see them’

      b   a-ndi-ba-boni a-ba-fundi
         ‘not-1sg-oc2-see 2-student’

         ‘I don’t see the/some students.’

(41)a   ndi-ya-yi-bona
          ‘1sg-Foc-oc4-see’

          ‘I see them.’

      b   a-ndi-yi-boni i-mi-thi
         ‘not-1sg-oc4-see 4-tree’

         ‘I don’t see the/some trees.’

The object concords (OCs) look identical to the SCs:

(42)       the class prefix                                             the oc

class 1          u-m-                                                           m-
         2         a-ba-                                                            ba-

         3         u-m-                                                            u-
         4         i-mi-                                                             i-
         5         i-li-                                                               li-

         6         a-ma-                                                           a-
         7         i-si-                                                              si-

         8         i-zi-                                                              zi-

         9         i-N-                                                              i-
        10        i-zi-N-                                                          zi-
        11        u-lu-                                                            lu-
        14        u-bu-                                                           bu-
        15        u-ku-                                                           ku-
Except for class 1:

(43)a  umntwana uyadlala                   (SC1 = u)  

           ‘1-child    sc1-Foc-play’

           ‘The child is playing’

      b   ndiyambona umntwana             (OC2 = m)

          ‘1sg-Foc-OC1-see 1-child’

          ‘I see the child.’

Thus:

(44)  [AUG Ai [SC Bi  [OC Ci [AC Di ]]]]                                     (four structural layers)

(45)  [OC Ci [VP V ]] [AUG Ai [SC Bi  [OC Ci [AC Di [NP N ]]]]   (object agreement)

                |________________________|   

Scenario 1:

(46)a  u  (( < A1, B1 >                                                        (lexical entries for class 1)

      b  m  (( < C1, D1 >
Giving:

(47)  [OC Ci [VP bona ]] [AUG Ai [SC Bi  [OC Ci [AC Di [NP ntwana ]]]]       (OC1)

                |                         |_______|           |_____| 

                |                                |                        |     

               m                               u                      m   

Scenario 2: 

(48)a  a   ((  < A2 >

      b  ba  (( < B2, C2, D2 >

Giving:
(49)  [OC C2 [VP bona ]] [AUG A2 [SC B2  [OC C2 [AC D2 [NP ntwana ]]]]       (OC2)

                |                               |          |______|_____|   

                |                               |                       | 

                ba                           a                      ba 

Scenario 3:

(50)a  i    ((  < A4, B4, C4 >                                            (lexical entries for class 4)

      b  mi  (( < D4 >

Giving:
(51) [OC C4 [VP bona ]] [AUG A4 [SC B4  [OC C4 [AC D4 [NP thi ]]]]                (OC4)

               |                               |_____|______|          |   

               |                                          |                       | 

               i                                         i                      mi      
3.3.  Five structural layers
(52)a  inja i- m – bi                                           (AC9)

         ‘9-dog AC9- bad’

         ‘The dog is bad.’

      b  izinja zi – m –bi                                      (AC10)

         ’10-dog AC10-bad’

        ‘The dogs are bad.’

Leading to:

(53)  [AUG Ai [SC Bi [OC Ci [AC Di [ Ei ]]]]]         (five structural layers)

Adjectival agreement revised:

(54)  [AUG Ai [SC Bi [OC Ci [AC Di [ Ei ]]]]]   [AC Di [ Ei [AP A ]]]

                                            |______________| 

(55)a  i   ((  < A9, B9, C9, D9 >                          (lexical entries for class 9)

      b  N  ((  < E9 >
Giving:

(56)  [AUG A9 [SC B9 [OC C9 [AC D9 [ E9 [NP ja ]]]]]]   [AC D9 [ E9 [AP bi ]]]      (AC9)

                  |_____|_____|_____|         |                               |         |   

                                 |                           |                              |          |

                                i                           N                             i         N   

(57)a  i  ((  < A10 >                                       (lexical entries for class 10)

      b  zi ((  < B10, C10, D10 >

      c  N  (( < E10 >  

Giving:
(58)  [AUG A10 [SC B10 [OC C10 [AC D10 [ E10 [NP ja ]]]]]]   [AC D10 [ E10 [AP bi ]]]      (AC10)

                  |            |______|______|        |                                 |           |   

                  |                         |                     |                                 |           |   

                  i                        zi                   N                               zi          N   

All other classes:

(59)  M  (( < … Di, Ei >        

The N has a morphosyntactic life of its own:

(60)a   class 9   yiphi                  (Swati)
       b   class 10  tiphi
Enumerative concords are Acs without the bottom layer:
(61)a  [AC D9 [AP phi ]]                  (enumerative AC9)

                  | 

                  i 

       b  [AC D10 [AP phi ]]                (enumerative AC10)

                  |  

                 ti
3.4.  Six structural layers
(62)a  Hamba, nja!
          ‘go      9-dog’

          ‘Go, dog!’

      b  Hambani, zinja!
          ‘go-2pl  10-dog’

          ‘Go, dogs!’

(63)  [AUG Ai [SC Bi [OC Ci [AC Di [ Ei [ Fi ]]]]]]         (six structural layers)

4.  The structure of concords

We will now revise the structural analysis of the concords (in a way that will not affect the basic analysis).

4.1.  Syncretism patterns for the concords

Syncretism patterns for concords:

(64)a  SC = OC = AC  (classes 2, 5, 7, 8, 11, 14, 15)

      b  SC = OC ≠ AC  ( classes 3, 4, 6, 9, 10 )

      c   SC ≠ OC = AC (class 1)

Not found:

(65)  SC = AC ≠ OC

(65) as an instance of *ABA:

(66)a  SCi = [SC Xi [OC Yi [AC Zi ]]]  ( A

      b  OCi = [OC Yi [AC Zi ]]             (  B

      c  AC =  [AC Zi ]                         (  A

(67)a A  (( < Xi, Yi, Zi >

      b  B  (( < Yi, Zi >

But:

(68)a  SC1 = u ≠ um
      b  SC3 = u ≠ um
      c  SC4 = i ≠ imi
      d  SC6 = a ≠ ama
      e  SC9 = i ≠ iN
      f  SC10 = zi ≠ ziN
(69) [SC X1 [OC Y1 [AC Z1 ]]]                     (SC1)

              |           |_____|   

              |                |  

             u               m              (
        [SC X1 [OC Y1 [AC Z1 ]]]                     (SC1)

              |           |______|  

              |                |  

             u               m

4.2.  The participial subject concord

SC1 = a rather than u with negation, in subjunctive, non-subject relatives and in participles (coalescing with i):

(70)  incwadi ayifundayo
        ‘9-book SC1-OC9-read-REL’

        ‘the book he is reading’

No other class has a distinct participial SC.

Proposal:

First we add a head C between the SC-layer and the OC-layer:

(71)  [AUG Ai [SC Bi [PSC Ci [OC ….
Then, we relativize subject/verb agreement to the principal vs participial, … distinction:

(72)a  [AUG Ai [SC Bi [PSC Ci [OC … NP ]   [SC Bi [PSC Ci [OC … [ VP ]    (principal SC)

                             |______________________|

       b  [AUG Ai [SC Bi [PSC Ci [OC … NP ]   [PSC Ci [OC … [ VP ]            (participial SC)

                                          |_________________|

Lexical entries for class 1:

(73)a  u  ((  < A1, B1, C1 >

       b  a  (( < C1 >

       c  m  (( < D1, E1 >

Lexicalizing the principal SC1:
(74)a   [SC B1 [PSC C1 [OC D1 [AC E1  ]]]]                                      

                                         |______|  

                                                |   

                                                m 

      b    [SC B1 [PSC C1 [OC D1 [AC E1 ]]]]]             (a blocks u by “Best Fit”)
                               |           |_____|  

                               |                 |   

                               a               m 

      c   [SC B1 [PSC C1 [OC D1 [AC E1 ]]]]]              (u overwrites a by “Biggest Wins”)
                  |______|         |_____|  

                        |                     |   

                        u                   m      

       d  [SC B1 [PSC C1 [OC D1 [AC E1 ]]]]]        

                  |______|         |_____|  

                        |                     |   

                        u                   m
Lexicalizing the participial SC1:

(75)a  [PSC C1 [OC D1 [AC E1  ]]]                                      

                             |_____|  

                                   |   

                                   m 

       b  [PSC C1 [OC D1 [AC E1  ]]]                                      

                    |          |_____|  

                    |               |   

                    a             m                                        (a blocks u by “Best Fit”)

       c  [PSC C1 [OC D1 [AC E1  ]]]                                      

                    |          |_____|  

                    |               |   

                    a             m
Classes where the SC = the OC: *ABA:

(76)a  [SC Bi [PSC Ci [OC Di …         ( X               (the principal SC)

       b  [PSC Ci [OC Di …                  ( Y               (the participial SC)

       c  [OC Di …                              ( X               (the OC)
For example:
(77)a  i    (( < A4, B4, C4. D4 >                         (lexical entries for class 4)

       b  mi (( < E4 >

You may add an entry for a distinct participial SC4:

(78)  a  (( < C4 >

But it will never emerge:

(79)a  [PSC C4 [OC D4 [AC E4  ]]]                                      

                                         |  

                                       mi 

       b  [PSC C4 [OC D4 [AC E4  ]]]                                      

                               |         |  

                               i        m                                        

        c  [PSC C4 [OC D4 [AC E4  ]]]                                      

                    |_____|           |          

                          |                |                             

                          i               m                                (i block a by “Biggest Wins”)                          

       d  [PSC C1 [OC D1 [AC E1  ]]]                                      

                    |_____|          |

                          |               |   

                          i             mi      
4.3. Southern Bantu without initial vowels

Most Southern Bantu languages don’t have initial vowels in their nominal prefixes, but do have V-shaped SCs and OCs. We are led to claim that a noun phrase (usually) has less structure in these languages.

4.3.1.  Why noun phrases must be very small in Venda:

Venda:

(80)          preﬁx          SC              OC            AC
           1    mu-             u-                mu-           mu-
           2    vha-            vha-            vha-          vha-
           3    mu-             u-                u-              mu- 
           4    mi-              i-                 i-               mi-
           5    li-                li-               li-               li-
           6    ma-             a-                a-                ma-
           7    tshi-           tshi-            tshi-             tshi-
           8    zwi-           zwi-            zwi-             zwi-
           9    N-              i-                 i-                  N-
         10    dziN-         dzi-             dzi-              dziN

         11    lu-              lu-              lu-                lu-
         14    vhu-           vhu-           vhu-             vhu-
         15    u-               hu-             hu-                hu-
The structure of nominal prefixes in Nguni:

(81)  [AUG Ai [SC Bi [OC Ci [AC Di [ Ei [ Fi ]]]]]]

Analytical options:

(82)a  The structure of the Venda nominal prefixes is also (81)

       b  The structure of the Venda nominal prefixes includes just the lowest layer of (81)

Assuming (82)a:

(83)a  mu  (( < A1, B1, C1, D1, E1, F1 >                      (the class1 prefix, OC1, AC1)    
      b   u    ((  < B1, C1, D1, E1, F1 >                            (SC1)

(84)    vha  ((  < A2, B2, C2, D2, E2, F2 >                     (the class2 prefix, SC2, OC2, AC2)

(85)a   mi  (( < A4, B4, C4, D4, E4, F4 >                      (the class 4 prefix)

      b   i  ((   < B4, C4, D4, E4, F4 >                              (SC4, OC4)

No problem wrt the classes where all the concords are equal to the nominal prefix, e.g. class 2:

(86)a  [AUG A2 [SC B2 [OC C2 [AC D2 [ E2 [ F2 ]]]]]]             (the class 2 prefix)

                    |_____|_____|_____|____|____| 

                                               | 

                                              vha                                             

      b   [SC B2 [OC C2 [AC D2 [ E2 [ F2 ]]]]]]                          (SC2)

                  |_____|_____|____|____| 

                                       | 

                                     vha                                             

      c   [OC C2 [AC D2 [ E2 [ F2 ]]]]]]                                     (OC2)

                  |_____|____|____| 

                                  | 

                                vha                

      d  [AC D2 [ E2 [ F2 ]]]]]]                                                 (AC2)

                 |____|____| 

                            | 

                          vha                                             

Not so for the classes in which the prefix is identical to the OC and/or the AC, but not to the SC:

(87)a  [AUG A4 [SC B4 [OC C4 [AC D4 [ E4 [ F4 ]]]]]]             (the class 4 prefix)

                    |_____|_____|_____|____|____| 

                                               | 

                                              mi                                            

      b   [SC B4 [OC C4 [AC D4 [ E4 [ F4 ]]]]]]                          (SC4)

                  |_____|_____|____|____| NP
                                       | 

                                       i                                                      (i blocks mi by “Best Fit”)                                        

      c   [OC C4 [AC D4 [ E4 [ F4 ]]]]]]                                     (OC4)

                  |_____|____|____| 

                                  | 

                                  i                                                            (i blocks mi by “Best Fit”)                

      d  [AC D4 [ E4 [ F4 ]]]]]]                                                 (AC4)

                 |____|____| 

                            | 

                            i                                                                   (i blocks mi by “Best Fit”)

Conclusion:

On hypothesis (82)a , all the bold-faced rows in (80) become *ABA sequences. Therfore, (82)b must be correct.                                         

4.3.2.  But nouns phrases are not always small in Venda-like languages
Xhosa, Zulu:

(88)a  na [AUG um [NP fazi ]]  (  /nomfazi/  

         with        1      woman

       b  na [AUG aba [NP fazi ]]  (  /nabafazi/  

       with         2   woman

    c   na [AUG isi [NP tulo ]]  (  /nesitulo/   

       with        7        chair

Shona  (from Harford (1997)):

(89)a  na [AUG umu [NP kadzi ]]  (  /nomukadzi/

        with          1          woman

      b   na [AUG ava [NP kadzi ]]  (  /navakadzi/    

        with           2        woman

     c    na [AUG ichi [NP garo ]]   (  /nechigaro/

        with           7         chair
Under negation:

Xhosa, Zulu:

(90)a  na [AUG m [NP fazi ]]   (  /namfazi/  

         with        1      woman

       b  na [AUG ba [NP fazi ]]  (  /nabafazi/  

       with          2   woman

    c   na [AUG si [NP tulo ]]     (  /nasitulo/   

       with        7        chair

Shona  (from Harford (1997)):

(91)a  na [AUG mu [NP kadzi ]]  (  /namukadzi/

        with          1       woman

      b   na [AUG va [NP kadzi ]]   (  /navakadzi/    

        with           2        woman

     c    na [AUG chi [NP garo ]]   (  /nachigaro/

        with          7         chair
5.  Issues

The Bantu Project at CASTL is currently exploring a number of  theoretical and empirical issues relating to the analysis presented here.
5.1.  Spans vs constituents

The Superset Principle restricting lexicalization to constituents:

(92) A morpheme M associated with the tree T can lexicalize any constituent of which T is a 

         supertree.

New lexical entries for class 1:

(93)a  u  ((  [AUG Ai [SC B1 ]]

      b  m  ((  [OC C1 [AC D1  ]]

But A and B don’t form a constituent in (94):

(94)  [ [AUG A1 [SC B1 [OC C1 [AC D1 ]]]] [NP N ]]

                    |_____|          |______|   

                          |                     |   

                         u                    m    

5.2.  Gender features
The class diacritics used above should be replaced with sets of more primitive privative features:

(95)a The sg/pl pairing : class 2 = [ pl [ 1 ]] etc.

      b  Syncretisms across classes, e.g. –zi – in classes 8 and 10

But if features map onto syntactic heads one-to-one, all heads previously represented as Xi now become phrasal nodes.
5.3.  Strong vs weak classes

The account presented above takes the classical distinction between the “weak” classes          ( SC = V) and the “strong” ones ( SC = CV) out of morphosyntax, reducing it to arbitrary properties of lexical entries.  But:

(96)  Class     1  lo                                Class 2  aba          (Xhosa)
                      3  lo                                          4  le
                      5 eli                                          6  la
                      7 esi                                         8  ezi
                      9  le                                         10 ezi 

                    11 olu
                   14 obu
                   15 oku
(97)a  izinkomo zikaMpande                                               (Zulu)

          ‘10- cow SC10-of-Mpande’

          ‘Mpande’s cattle’

      b  amahhashi kathisha 

          ‘6- horse    of-teacher’

          ‘the teacher’s horses’
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